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ENGLISH VERSION

Instructions :
€)) Write answer of the entire question in main answer sheet.
(2)  Figures in the right side indicate marks.
1 Give anawer any one from the folowing : 14
(1)  Discuss the arguments in favour and in against of Nuclear
Power Plant.
(2) Discuss the problems of road development in India.
3) Explain the development of railway in Indian planning
period.
2 (a) Give answer any one from the following : 10
(1) Explain the importance of education in economic
development.
(2) Airport development and privatization.
(b) Give answer any one from the following : 10
(1) Rakesh Mohan Committee report on infrastructure
development in India.
(2) Public Private Partnership growth in India.
3 (a Give answer any one from the following in brief. 10

(1) Healthcare facility in India.

(2) Human resource and human capital development in

India.
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(b)

Give answer any one from the following in brief. 10
(1) Write note on port development in India.

(2) Discuss the factors affecting demand of electricity.

4  Write answer of the following questions in one or two lines. 6

ey
)
3)
4)
()
©6)

How many type of power production ?

What i1s Human Capital ?

What is called social infrastructure ?

What is means by Foreign Direct Investment ?
What are the main segments of transportation ?

How many types of railway route in India ?

5 Choose the right answer from objective given below: (Any ten) 10

ey

)

3)

Infrastructure.......?

(A) Roads

(B) Transports

(C) Banks

(D) Above all

Which types of power plants are in India ?
(A) Thermal

(B) Hydel

(C) Nuclear

D) All

What is the impact of infrastructure on economic development?
(A) Positive

(B) Negative

(C) Stable

(D) Uncertain
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(4)  Which policy implementing in transportation since 1991 ?
(A) Privatization-Liberalization
(B) Controls
(C) License
(D) None of these
(5)  Which from the following is include in social infrastructure?
(A) Education
(B) Health
(C) Both
(D) None
(6)  Which programme is started for rural infrastructure in
India in 2005 ?
(A) Bharat Nirman
(B) Manrega
(C) Both
(D) None
(7)  Disinvestment means
(A) Increase the monopoly of public sector.
(B) To make the public sector efficient
(C) To sale public sector to private sector
(D) To sale private sector to public sector

(8) Which committee has submitted report for infrastructure

development in India ?

(A) Sen Committee

(B) Aabid Hussain Committee
(C) Rakesh Mohan Committee
(D) Gadgil Committee
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(9) Post independence in the field of infrastructure India
has 7
(A) Set back
(B) Remarkable Progress
(C) Maintained status
(D) Decline Status
(10) Which plan from the following is for rural development ?
(A) Prime Minister Rural Road Yojana
(B) Rural Water supply
(C) Rural Housing
D) All
(11) How is the rate of structure of postal service ?
(A) Equal
(B) Unequal
(C) Equal in long run
(D) Uncertain
(12) How is the rate structure of telephone ?
(A) Equal
(B) Unequal

(C) Equal in long run

(D) Uncertain
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